PROGRAM	1759-S TERM 07/01/10 TO 06/30/10				
	ATIONAL DIRECT MAIL PROGRAM				
11122 11					
ITEM NO.	DESCRIPTION	*	BASIS OF *	ALCOM	*
TI DIN TO		*	AWARD *	Harleysville, PA	*
		*	*	UNIT RATE	COST *
T	ELECTRONIC PREPRESS:	*	*	OWII KATE	*
A.	Trim/page-size unitper trim/page-size unit	*	44 *	\$5.00	\$220.00 *
B.	Digital color content proofsper trim/page size unit	*	132 *	\$6.00	\$792.00 *
C.	One-piece laminated color proofsper trim/page-size unit	*	50 *	\$25.00	\$1,250.00 *
D.	System Timework per hour.	*	38 *	\$50.00	\$1,900.00 *
II.	PRINTING & BINDING:	*	30	\$50.00	\$0.00 *
-	ENVELOPES:	*	*		'
A.		*	*		\$0.00 *
1.	Printing in 1st Spot Color	*	*		\$0.00 *
(a)	No. 10, Format A (No Window)		7 *	ф100 00	\$0.00 *
(1)	Makeready and/or Setup.			\$100.00	\$700.00 *
(2)	Running per 1,000 Copies.	······ ^	92 *	\$64.67	\$5,949.64 *
(b)	No. 10, Format B (One Window)	*	*	**	\$0.00 *
(1)	Makeready and/or Setup.		3 *	\$100.00	\$300.00 *
(2)	Running per 1,000 Copies.	*	693 *	\$66.81	\$46,299.33 *
(c)	No. 10, Format C (Two Windows)	*		****	\$0.00 *
(1)	Makeready and/or Setup.	*	1 *	\$100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	10 *	\$70.99	\$709.90 *
(d)	No. 9, Format D (No Windows)	*	*		\$0.00 *
(1)	Makeready and/or Setup	*	1 *	\$100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	475 *	\$64.67	\$30,718.25 *
2.	Printing in Four-Color Process	*	*		\$0.00 *
(a)	No. 10, Format A (No Windows)	*	*		\$0.00 *
(1)	Makeready and/or Setup		1 *	\$100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	74 *	\$67.10	\$4,965.40 *
(b)	No. 10, Format B (One Window)	*	*		\$0.00 *
(1)	Makeready and/or Setup		1 *	\$100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	10 *	\$69.27	\$692.70 *
(c)	No. 10, Format C (Two Windows)	*	*		\$0.00 *
(1)	Makeready and/or Setup.	*	1 *	\$100.00	\$100.00 *
(2)	Running per 1,000 Copies.		10 *	\$73.43	\$734.30 *
(d)	No. 9, Format D (No Windows)	*	*		\$0.00 *
(1)	Makeready and/or Setup	*	XXXX *		\$0.00 *
(2)	Running per 1,000 Copies		XXXX *		\$0.00 *
3.	Printing in Each Additional Spot Color - Per Color	*	*		\$0.00 *
(a)	No. 10 (Format A, B & C)	*	*		\$0.00 *
(1)	Makeready and/or Setup.	*	7 *	\$25.00	\$175.00 *
(2)	Running per 1,000 Copies.	*	785 *	\$0.55	\$431.75 *
(b)	No. 9 (Format D)	*	*		\$0.00 *
(1)	Makeready and/or Setup.	*	XXXX *		\$0.00 *
(2)	Running per 1,000 Copies.		XXXX *		\$0.00 *
В.	REPLY CARDS:	*	*		\$0.00 *
1.	Printing in 1st Spot Color	*	*		\$0.00 *

(a)	Up to 4 x 6"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$260.00	\$260.00 *
(2)	Running per 1,000 Copies		10	·	\$30.40 *
(b)	Over 4 x 6" up to 9 x 8"	*		*	\$0.00 *
(1)	Makeready and/or Setup.	*	5	* \$260.00	\$1,300.00 *
(2)	Running per 1,000 Copies.		786	1	\$3,930.00 *
(c)	Over 9 x 8" up to 8-1/2 x 11"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$260.00	\$260.00 *
(2)	Running per 1,000 Copies.		10	T-00.00	\$70.70 *
(d)	Over 8-1/2 x 11" up to 11 x 17"	*		ψ1.01 *	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$260.00	\$260.00 *
(2)	Running per 1,000 Copies.		10		\$113.80 *
2.	Printing in Four-Color Process	*	10	*	
(a)	Up to 4 x 6"	*		*	\$0.00 *
(a) (1)			1		\$0.00 *
(2)	Makeready and/or Setup		5	ψ 1 20.00	\$425.00 *
	Running per 1,000 Copies.	^	-	* \$3.73	\$18.65 *
(b)	Over 4 x 6" up to 9 x 8"	*			\$0.00 *
(1)	Makeready and/or Setup		1	φ120.00	\$425.00 *
(2)	Running per 1,000 Copies.	*	74		\$499.50 *
(c)	Over 9 x 8" up to 8-1/2 x 11"	*		*	\$0.00 *
(1)	Makeready and/or Setup		1	Ψ120:00	\$425.00 *
(2)	Running per 1,000 Copies.	*	5	·	\$38.00 *
(d)	Over 8-1/2 x 11" up to 11 x 17"	*		*	\$0.00 *
(1)	Makeready and/or Setup.	*	1	Ψ120.00	\$425.00 *
(2)	Running per 1,000 Copies.	*	5	* \$12.00	\$60.00 *
3.	Printing in Each Additional Spot Color - Per Color	*		*	\$0.00 *
(a)	Up to 4 x 6"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	10	* \$0.55	\$5.50 *
(b)	Over 4 x 6" up to 9 x 8"	*		*	\$0.00 *
(1)	Makeready and/or Setup.	*	9	* \$100.00	\$900.00 *
(2)	Running per 1,000 Copies.	*	1498	* \$0.75	\$1,123.50 *
(c)	Over 9 x 8" up to 8-1/2 x 11"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	10		\$9.00 *
(d)	Over 8-1/2 x 11" up to 11 x 17"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$100.00	\$100.00 *
(2)	Running per 1,000 Copies.		10		\$13.00 *
C. (2)	FORMS/FACT FOLDERS:	*		*	\$0.00 *
1.	Printing in 1st Spot Color	*		*	\$0.00 *
	Up to 5-1/2 x 8-1/2"	*		*	·
(a)		*	1		\$0.00 * \$260.00 *
(1)	Makeready and/or Setup.	······· ^			'
(2)	Running per 1,000 Copies	*	10	* \$5.89	\$58.90 *
(b)	Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"		4.0	*	\$0.00 *
(1)	Makeready and/or Setup.		10		\$2,600.00 *
(2)	Running per 1,000 Copies.		2388	* \$7.07	\$16,883.16 *
(c)	Over 8-1/2 x 11" up to 11 x 17"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$260.00	\$260.00 *

(2)	Running per 1,000 Copies.	*	10	* \$11.38	\$113.80 *
2.	Printing in Four-Color Process	*		*	\$0.00 *
(a)	Up to 5-1/2 x 8-1/2"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$425.00	\$425.00 *
(2)	Running per 1,000 Copies.	*	5	*	\$30.50 *
(b)	Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"	*		*	\$0.00 *
(1)	Makeready and/or Setup	*	11	* \$425.00	\$4,675.00 *
(2)	Running per 1,000 Copies.		3989		\$30,316.40 *
(c)	Over 8-1/2 x 11" up to 11 x 17"	*	0000	*	\$0.00 *
(1)	Makeready and/or Setup	*	1	* \$425.00	\$425.00 *
(2)	Running per 1,000 Copies.		5	\$1 2 3.00	\$60.00 *
3.	Printing in Each Additional Spot Color - Per Color	*	0	*	\$0.00 *
(a)	Up to 5-1/2 x 8-1/2"	*		*	\$0.00 *
(1)	Makeready and/or Setup.	*	1	* \$100.00	\$100.00 *
(2)			10	*	\$7.50 *
(b)	Running per 1,000 Copies. Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"	*	10	*	\$0.00 *
		*	90	* #100.00	
(1)	Makeready and/or Setup		20		\$2,000.00 *
	Running per 1,000 Copies.	"	4735	* \$0.80	\$3,788.00 *
(c)	Over 8-1/2 x 11" up to 11 x 17"	^		* \$100.00	\$0.00 *
(1)	Makeready and/or Setup			Ψ100.00	\$100.00 *
(2)	Running per 1,000 Copies.	*	10	* \$1.30	\$13.00 *
III.	PAPER:	*		x	\$0.00 *
A.	ENVELOPES (per 1,000 envelopes):			*	\$0.00 *
1.	No. 10:	*		*	\$0.00 *
(a)	White Laid, Linen or Cockle-Finish Bond (24 lb)	*	859		\$17,695.40 *
(b)	Colored Laid, Linen or Cockle-Finish Bond (24 lb)	*	5	+	\$142.20 *
(c)	White 25% Laid, Linen or Cockle Finish Bond (20 lb)	*	5	T	\$103.00 *
(d)	White Litho (Gloss) Coated Book or White Dull Coated Offset Book (70 lb)	*	5		\$50.90 *
(e)	White Litho (Gloss) Coated Book or White Dull Coated Offset Book (80 lb)	*	5	·	\$50.90 *
2.	No. 9:	*		*	\$0.00 *
(a)	White Laid, Linen or Cockle-Finish Bond (24 lb)	*	5		\$103.00 *
(b)	Colored Laid, Linen or Cockle-Finish Bond (24 lb)	*	5	¥	\$142.20 *
(c)	White 25% Laid, Linen or Cockle Finish Bond (20 lb)	*	859	* \$20.60	\$17,695.40 *
(d)	White Litho (Gloss) Coated Book or White Dull Coated Offset Book (70 lb)	*	5	* \$10.18	\$50.90 *
(e)	White Litho (Gloss) Coated Book or White Dull Coated Offset Book (80 lb)	*	5	* \$10.18	\$50.90 *
B.	REPLY CARDS (per 1,000 reply cards):	*		*	\$0.00 *
1.	No. 1 White Coated Cover, Gloss-Finish or White Dull Coated Cover (80 lb)	*		*	\$0.00 *
(a)	Up to 4 x 6"	*	5	* \$5.85	\$29.25 *
(b)	Over 4 x 6" up to 9 x 8"	*	74	* \$15.62	\$1,155.88 *
(c)	Over 9 x 8" up to 8-1/2 x 11"	*	5	* \$22.76	\$113.80 *
(d)	Over 8-1/2 x 11" up to 11 x 17"	*	5		\$242.60 *
2.	White Laid or Linen Finish Cover (65 lb)	*		*	\$0.00 *
(a)	Up to 4 x 6"	*	5	* \$6.57	\$32.85 *
(b)	Over 4 x 6" up to 9 x 8"	*	74		\$2,035.74 *
(c)	Over 9 x 8" up to 8-1/2 x 11"	*	5		\$181.35 *
(d)	Over 8-1/2 x 11" up to 11 x 17"	*		* \$82.53	\$412.65 *
3.	Colored Laid or Linen Finish Cover (65 lb)	*		*	\$0.00 *
(a)	Up to 4 x 6"	*	5	* \$8.05	\$40.25 *

(b)	Over 4 x 6" up to 9 x 8"*	5 *	\$31.46	\$157.30 *
(c)	Over 9 x 8" up to 8-1/2 x 11"*	5 *	\$52.19	\$260.95 *
(d)	Over 8-1/2 x 11" up to 11 x 17"*	5 *	\$84.38	\$421.90 *
C.	FORMS/FACT FOLDERS (per 1,000 leaves):	*	·	\$0.00 *
1.	White 25% Laid, Linen or Cockle Finish Bond (24 lb)	*		\$0.00 *
(a)	Up to 5-1/2 x 8-1/2"*	5 *	\$10.30	\$51.50 *
(b)	Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"*	5 *	\$20.60	\$103.00 *
(c)	Over 8-1/2 x 11" up to 17 x 11"*	5 *	\$41.20	\$206.00 *
2.	White or Colored Laid, Linen or Cockle Finish Bond (24 lb)	*		\$0.00 *
(a)	Up to 5-1/2 x 8-1/2"*	5 *	\$14.22	\$71.10 *
(b)	Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"	3125 *	\$28.16	\$88,000.00 *
(c)	Over 8-1/2 x 11" up to 17 x 11"*	5 *	\$56.88	\$284.40 *
3.	White Litho (Gloss) Coated Book/White Dull Coated Offset Book (70 or 80 lb)	*		\$0.00 *
(a)	Up to 5-1/2 x 8-1/2"*	5 *	\$5.09	\$25.45 *
(b)	Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"*	5 *	\$10.18	\$50.90 *
(c)	Over 8-1/2 x 11" up to 17 x 11"*	3677 *	\$25.00	\$91,925.00 *
4.	No. 1 White Coated Cover, Gloss-Finish or White Dull Coated Cover (80 lb)	*		\$0.00 *
(a)	Up to 5-1/2 x 8-1/2"*	5 *	\$11.38	\$56.90 *
(b)	Over 5-1/2 x 8-1/2" up to 8-1/2 x 11"*	3326 *	\$22.76	\$75,699.76 *
(c)	Over 8-1/2 x 11" up to 17 x 11"*	33 *	\$45.52	\$1,502.16 *
IV.	ADDITIONAL CHARGES: *	*		\$0.00 *
A.	Variable data printingper 1,000 pages*	775 *	\$10.00	\$7,750.00 *
В.	Direct mail packages stored for later shipmentper 1,000 packages*	90 *	\$20.00	\$1,800.00 *
C.	Apply a remoistenable glue strip on one panel of a formper 1,000 forms *	97 *	\$38.00	\$3,686.00 *
V.	LABELING, INSERTING, SORTING, PACKING, AND MAILING: *	*		\$0.00 *
A.	Bulk shipments (other than by mail):	*		\$0.00 *
1.	Packing and sealing shipping containersper container*	22 *	\$1.50	\$33.00 *
2.	Palletizingper pallet*	1 *	\$20.00	\$20.00 *
B.	Direct Printing addresses/barcodes, applying wafer seals, and inserting:	*		\$0.00 *
	also includes Postal Service sorting, labeling, bundling, packaging *	*		\$0.00 *
	documentation and delivery to a Post Office *	*		\$0.00 *
1.	Inserting one reply card and one folded form *	*		\$0.00 *
	into a No. 10 envelopeper 1,000 envelopes*	000	\$9.00	\$7,740.00 *
2.	Inserting each additional item into a No. 10 envelopeper 1,000 items*	3125 *	\$2.00	\$6,250.00 *
3.	Applying perforated clear vinyl wafer seals *	*	\$5.44	\$0.00 *
	to the finished productper 1,000 wafers	0200		\$0.00 *
4.	Direct printing addresses/barcodesper 1,000 addresses/barcodes *	7822 *	\$10.00	\$78,220.00 *
5.	Cross-matching variable data to include all collation requiredper 1,000 sets.	100	\$22.00	\$3,520.00 *
	*	*		\$0.00 *
	*	*		\$0.00 *
	CONTRACTOR TOTALS *	*		\$577,511.07 *
	DISCOUNT *	*	5.00%	\$28,875.55 *
	DISCOUNTED TOTALS *	*		\$548,635.52 *

CENVEO	*	COLOR Q		*	MONARCH LITHO	
Los Angeles, CA	*	Miamisburg, OH		*	Montebello, CA	
UNIT RATE	COST *	UNIT RATE	COST	*	UNIT RATE	COST
	*			*		
\$47.37	\$2,084.28 *	No Charge	\$0.00	*	\$12.50	\$550.00
\$5.26	\$694.32 *	No Charge	\$0.00	*	\$5.50	\$726.00
\$26.32	\$1,316.00 *	No Charge	\$0.00	*	\$28.00	\$1,400.00
\$105.26	\$3,999.88 *	No Charge	\$0.00	*	\$60.00	\$2,280.00
	\$0.00 *		\$0.00	*		\$0.00
	\$0.00 *		\$0.00	*		\$0.00
	\$0.00 *		\$0.00	*		\$0.00
	\$0.00 *		\$0.00	*		\$0.00
\$263.16	\$1,842.12 *	\$200.00	\$1,400.00	*	\$505.00	\$3,535.00
\$23.16	\$2,130.72 *	\$15.00		*	\$18.50	\$1,702.00
	\$0.00 *		\$0.00	*		\$0.00
\$263.16	\$789.48 *	\$200.00	· ·	*	\$520.00	\$1,560.00
\$28.42	\$19,695.06 *	\$15.00		*	\$20.25	\$14,033.25
1	\$0.00 *	,		*	¥	\$0.00
\$263.16	\$263.16 *	\$200.00		*	\$540.00	\$540.00
\$42.11	\$421.10 *	\$15.00		*	\$29.30	\$293.00
*	\$0.00 *	, , , , ,	· .	*	*	\$0.00
\$263.16	\$263.16 *	\$500.00		*	\$485.00	\$485.00
\$23.16	\$11,001.00 *	\$20.00		*	\$17.00	\$8,075.00
7-31-3	\$0.00 *	7-000		*	7-110	\$0.00
	\$0.00 *			*		\$0.00
\$894.74	\$894.74 *	\$800.00		*	\$790.00	\$790.00
\$23.16	\$1,713.84 *	\$25.00		*	\$22.50	\$1,665.00
723723	\$0.00 *	7.3.00	. ,	*	¥22.00	\$0.00
\$894.74	\$894.74 *	\$300.00		*	\$805.00	\$805.00
\$28.42	\$284.20 *	\$25.00		*	\$24.50	\$245.00
ΨΞ0.1Ξ	\$0.00 *	\$25.00		*	Ψ=1.00	\$0.00
\$894.74	\$894.74 *	\$300.00		*	\$825.00	\$825.00
\$42.11	\$421.10 *	\$25.00		*	\$33.50	\$335.00
Ψ12.11	\$0.00 *	Ψ20.00		*	φοσ.σσ	\$0.00
	\$0.00 *			*		\$0.00
	\$0.00 *		\$0.00	*		\$0.00
	\$0.00 *		\$0.00			\$0.00
	\$0.00 *		\$0.00	*		\$0.00
\$221.05	\$1,547.35 *	\$120.00		*	\$115.00	\$805.00
\$1.05	\$824.25 *	\$1.00		*	\$1.00	\$785.00
ψ1.00	\$0.00 *	ψ1.00		*	φ1.00	\$0.00
	\$0.00 *		\$0.00			\$0.00
	\$0.00 *		\$0.00	*		\$0.00
			\$0.00			φυ.υυ
	\$0.00 *		ሚስ በወ	*		\$0.00

	\$0.00 *		\$0.00	*	\$0.00 *
\$263.16	\$263.16 *	\$100.00	\$100.00		\$320.00 *
\$14.21	\$142.10 *	\$4.00	\$40.00		\$38.50 *
7-3-3	\$0.00 *	7	\$0.00		\$0.00 *
\$263.16	\$1,315.80 *	\$100.00		* \$320.00	\$1,600.00 *
\$15.79	\$12,410.94 *	\$4.00		* \$8.05	\$6,327.30 *
7-3113	\$0.00 *	7		*	\$0.00 *
\$263.16	\$263.16 *	\$100.00		* \$352.00	\$352.00 *
\$17.89	\$178.90 *	\$8.00	•	* \$10.60	\$106.00 *
,	\$0.00 *	, , , ,	· · · · · · · · · · · · · · · · · · ·	*	\$0.00 *
\$263.16	\$263.16 *	\$100.00		* \$370.00	\$370.00 *
\$35.79	\$357.90 *	\$8.00		* \$18.90	\$189.00 *
1	\$0.00 *	,		*	\$0.00 *
	\$0.00 *			*	\$0.00 *
\$894.74	\$894.74 *	\$800.00	\$800.00	* \$680.00	\$680.00 *
\$14.21	\$71.05 *	\$15.00		* \$4.90	\$24.50 *
	\$0.00 *		· · · · · · · · · · · · · · · · · · ·	*	\$0.00 *
\$894.74	\$894.74 *	\$800.00		* \$695.00	\$695.00 *
\$32.63	\$2,414.62 *	\$15.00	\$1,110.00	* \$10.25	\$758.50 *
	\$0.00 *			*	\$0.00 *
\$894.74	\$894.74 *	\$200.00		* \$760.00	\$760.00 *
\$17.89	\$89.45 *	\$15.00	\$75.00	* \$13.50	\$67.50 *
	\$0.00 *			*	\$0.00 *
\$894.74	\$894.74 *	\$200.00	\$200.00	* \$815.00	\$815.00 *
\$35.79	\$178.95 *	\$15.00	\$75.00	* \$20.20	\$101.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$247.37	\$247.37 *	\$100.00	\$100.00	* \$140.00	\$140.00 *
\$1.05	\$10.50 *	\$1.00	\$10.00	* \$1.00	\$10.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$315.79	\$2,842.11 *	\$300.00	ΨΔ,100.00	* \$145.00	\$1,305.00 *
\$1.05	\$1,572.90 *	\$1.00	\$1,498.00	* \$1.30	\$1,947.40 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$315.79	\$315.79 *	\$100.00	Ψ100.00	* \$165.00	\$165.00 *
\$1.05	\$10.50 *	\$1.00	Ψ10.00	* \$1.50	\$15.00 *
	\$0.00 *		ψ0.00	*	\$0.00 *
\$421.05	\$421.05	\$100.00	\$100.00	* \$175.00	\$175.00 *
\$1.05	\$10.50 *	\$1.00	\$10.00	* \$2.10	\$21.00 *
	\$0.00 *		ψ0.00	*	\$0.00 *
	\$0.00 *		\$0.00		\$0.00 *
	\$0.00 *		\$0.00		\$0.00 *
\$263.16	\$263.16 *	\$100.00	Ψ100.00	* \$320.00	\$320.00 *
\$17.37	\$173.70 *	\$2.00	\$20.00	·	\$40.00 *
	\$0.00 *		\$0.00		\$0.00 *
\$263.16	\$2,631.60 *	\$50.00	\$500.00		\$3,200.00 *
\$8.42	\$20,106.96 *	\$3.00	Ψ1,101.00	* \$8.00	\$19,104.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$263.16	\$263.16 *	\$100.00	\$100.00	* \$365.00	\$365.00 *

\$31.58	\$315.80 *	\$5.00	\$50.00	* \$15.50	\$155.00 *
ψ01.00	\$0.00 *	ψσ.σσ	\$0.00		\$0.00 *
	\$0.00 *		\$0.00		\$0.00 *
\$894.74	\$894.74 *	\$100.00		* \$680.00	\$680.00 *
\$17.37	\$86.85 *	\$3.00		* \$5.50	\$27.50 *
Ψ11.01	\$0.00 *	ψσ.σσ	· · · · · · · · · · · · · · · · · · ·	*	\$0.00 *
\$894.74	\$9,842.14 *	\$900.00		* \$695.00	\$7,645.00 *
\$10.53	\$42,004.17 *	\$10.00		* \$10.00	\$39,890.00 *
Ψ10.00	\$0.00 *	Ψ10.00		*	\$0.00 *
\$894.74	\$894.74 *	\$1,500.00		* \$815.00	\$815.00 *
\$31.58	\$157.90 *	\$50.00		* \$20.00	\$100.00 *
Ψ01.00	\$0.00 *	φσσ.σσ		*	\$0.00 *
	\$0.00 *			*	\$0.00 *
\$263.16	\$263.16 *	\$50.00		* \$140.00	\$140.00 *
\$1.05	\$10.50 *	\$1.50	<u> </u>	* \$1.00	\$10.00 *
Ψ1.00	\$0.00 *	ψ1.50	<u> </u>	*	\$0.00 *
\$315.79	\$6,315.80 *	\$100.00		* \$150.00	\$3,000.00 *
\$1.05	\$4,971.75 *	\$1.50		* \$1.80	\$8,523.00 *
Ψ1.00	\$0.00 *	Ψ1.00		*	\$0.00 *
\$421.05	\$421.05 *	\$1,000.00		* \$165.00	\$165.00 *
\$1.05	\$10.50 *	\$28.00		* \$3.50	\$35.00 *
4 = 1.0 0	\$0.00 *	723133	\$0.00		\$0.00 *
	\$0.00 *			*	\$0.00 *
	\$0.00 *			*	\$0.00 *
\$52.63	\$45,209.17 *	\$40.00		* \$39.70	\$34,102.30 *
\$63.16	\$315.80 *	\$40.00	<u>' '</u>	* \$58.30	\$291.50 *
\$63.16	\$315.80 *	\$40.00		* \$60.50	\$302.50 *
\$15.79	\$78.95 *	\$20.00	\$100.00	* \$18.65	\$93.25 *
\$15.79	\$78.95 *	\$20.00	\$100.00	* \$21.50	\$107.50 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$52.63	\$263.15 *	\$40.00	\$200.00	* \$39.00	\$195.00 *
\$63.16	\$315.80 *	\$45.00	\$225.00	* \$55.00	\$275.00 *
\$52.63	\$45,209.17 *	\$20.00	\$17,180.00	* \$44.00	\$37,796.00 *
\$15.79	\$78.95 *	\$50.00	\$250.00	* \$18.50	\$92.50 *
\$15.79	\$78.95 *	\$50.00	\$250.00	* \$20.20	\$101.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$8.42	\$42.10 *	\$30.00	\$150.00	* \$8.50	\$42.50 *
\$29.47	\$2,180.78 *	\$30.00	Ψ2,220.00	* \$20.80	\$1,539.20 *
\$29.47	\$147.35 *	\$30.00	\$150.00	* \$34.00	\$170.00 *
\$56.84	\$284.20 *	\$30.00	Ψ100.00	* \$68.00	\$340.00 *
	\$0.00 *		\$0.00		\$0.00 *
\$16.84	\$84.20 *	\$20.00	\$100.00	* \$18.00	\$90.00 *
\$58.95	\$4,362.30 *	\$20.00	\$1,480.00		\$2,701.00 *
\$58.95	\$294.75 *	\$20.00	\$100.00		\$349.00 *
\$113.68	\$568.40 *	\$20.00	\$100.00		\$695.00 *
	\$0.00 *		\$0.00	*	\$0.00 *
\$16.84	\$84.20 *	\$20.00	\$100.00		

\$58.95	\$294.75 *	\$20.00	\$100.00 *	\$49.00	\$245.00 *
\$58.95	\$294.75 *		\$100.00 *	\$78.50	\$392.50 *
\$113.68	\$568.40 *	φ20.00	\$100.00 *	\$155.00	\$775.00 *
ф115.00	\$0.00 *	·	\$0.00 *	\$155.00	\$0.00 *
	\$0.00		\$0.00 *		\$0.00 *
\$36.84	\$184.20 *		\$75.00 *	\$16.95	\$84.75 *
\$68.42	\$342.10 *		\$100.00 *	\$33.60	\$168.00 *
\$131.58	\$657.90 *		\$125.00 *	\$65.80	\$329.00 *
Ψ101.00	\$0.00 *		\$0.00 *	ψ09.00	\$0.00 *
\$36.84	\$184.20 *	\$16.00	\$80.00 *	\$19.50	\$97.50 *
\$28.42	\$88,812.50 *		\$84,375.00 *	\$28.70	\$89,687.50 *
\$131.58	\$657.90 *	·	\$300.00 *	\$75.70	\$378.50 *
Ψ101.00	\$0.00 *	·	\$0.00 *	\$13113	\$0.00 *
\$7.37	\$36.85 *	\$5.00	\$25.00 *	\$9.80	\$49.00 *
\$13.68	\$68.40 *		\$25.00 *	\$18.90	\$94.50 *
\$26.32	\$96,778.64 *		\$18,385.00 *	\$31.50	\$115,825.50 *
	\$0.00 *		\$0.00 *		\$0.00 *
\$15.79	\$78.95 *	\$20.00	\$100.00 *	\$17.80	\$89.00 *
\$26.32	\$87,540.32 *	\$20.00	\$66,520.00 *	\$26.90	\$89,469.40 *
\$56.84	\$1,875.72 *	\$90.00	\$2,970.00 *	\$53.75	\$1,773.75 *
	\$0.00 *		\$0.00 *		\$0.00 *
\$10.53	\$8,160.75 *	\$15.00	\$11,625.00 *	\$36.50	\$28,287.50 *
\$15.79	\$1,421.10 *	\$5.00	\$450.00 *	\$18.50	\$1,665.00 *
\$26.32	\$2,553.04 *	Ψ120.00	\$12,125.00 *	\$5.50	\$533.50 *
	\$0.00 *		\$0.00 *		\$0.00 *
	\$0.00 *		\$0.00 *		\$0.00 *
\$10.53	\$231.66 *	ψ0.00	\$110.00 *	\$4.75	\$104.50 *
\$15.79	\$15.79 *	Ψ20.00	\$20.00 *	\$25.00	\$25.00 *
	\$0.00 *		\$0.00 *		\$0.00 *
	\$0.00 *		\$0.00 *		\$0.00 *
	\$0.00 *		\$0.00 *		\$0.00 *
4.0 70	\$0.00 *		\$0.00 *	4.0.70	\$0.00 *
\$10.53	\$9,055.80 *	ψ10.00	\$8,600.00 *	\$13.50	\$11,610.00 *
\$5.26	\$16,437.50 *	φ1.00	\$3,125.00 *	\$2.75	\$8,593.75 *
\$10.53	\$0.00 *	Ψ10.00	\$0.00 *	\$12.00	φυ.υυ
Ø10.00	φ0.00		φ0.00	41 × 70	φ0.00
\$12.63	ψου, το 1.00	ψ10.00	φ10,220.00	\$15.50	\$121,241.00 *
\$52.63	ψ0,±20.00	Ψ10.00	φ1,000.00	\$65.00	\$10,400.00 *
	φ0.00		φυ.σσ		\$0.00 *
	\$0.00 * \$692,018.64 *		\$0.00 * \$458,413.50 *		\$0.00 * \$703,938.85 *
5.00%	\$34,600.93		\$458,413.50 **	2.00%	\$14,078.78 *
5.00%	\$657,417.71 *	0.0070	\$435,492.82 *	2.00%	\$14,078.78 * \$689,860.07 *
	φου <i>ι</i> ,41 <i>1.1</i> 1 "		Φ450,49Z.8Z "		, 1 U.Udó, Goda

PREVIOUS		*
CONTRACTOR		*
UNIT RATE	COST	*
		*
\$5.00	\$220.00	*
\$5.00	\$660.00	*
\$20.00	\$1,000.00	*
\$40.00	\$1,520.00	*
+	\$0.00	*
	\$0.00	*
	\$0.00	*
	\$0.00	*
\$470.00	\$3,290.00	*
\$18.00		*
\$10.00	\$1,656.00	*
# * 00.00	\$0.00	*
\$500.00	\$1,500.00	*
\$19.00	\$13,167.00	*
	\$0.00	
\$500.00	\$500.00	*
\$30.00	\$300.00	*
	\$0.00	*
\$500.00	\$500.00	*
\$17.00	\$8,075.00	*
	\$0.00	*
	\$0.00	*
\$500.00	\$500.00	*
\$22.00	\$1,628.00	*
	\$0.00	*
\$700.00	\$700.00	*
\$27.00	\$270.00	*
Ψ21.00	\$0.00	*
\$600.00	\$600.00	*
\$26.00	\$260.00	*
φ20.00	·	*
	\$0.00	*
	\$0.00	*
	\$0.00	*
	\$0.00	*
4122.22	\$0.00	
\$120.00	\$840.00	*
\$1.10	\$863.50	*
	\$0.00	*
	\$0.00	*
	\$0.00	*
	\$0.00	*
	\$0.00	*

	40.00	
4000.00	\$0.00	*
\$300.00	\$300.00	
\$4.00	\$40.00	*
	\$0.00	*
\$300.00	\$1,500.00	*
\$8.00	\$6,288.00	*
	\$0.00	*
\$300.00	\$300.00	*
\$10.00	\$100.00	*
	\$0.00	*
\$300.00	\$300.00	*
\$20.00	\$200.00	*
	\$0.00	*
	\$0.00	*
\$750.00	\$750.00	*
\$5.00	\$25.00	*
	\$0.00	*
\$750.00	\$750.00	*
\$10.00	\$740.00	*
	\$0.00	*
\$750.00	\$750.00	*
\$15.00	\$75.00	*
	\$0.00	*
\$750.00	\$750.00	*
\$20.00	\$100.00	*
	\$0.00	*
	\$0.00	*
\$150.00	\$150.00	*
\$0.75	\$7.50	*
	\$0.00	*
\$150.00	\$1,350.00	*
\$1.00	\$1,498.00	*
,	\$0.00	*
\$150.00	\$150.00	*
\$1.20	\$12.00	*
¥-1-5	\$0.00	*
\$150.00	\$150.00	*
\$2.00	\$20.00	*
Ψ -1 .00	\$0.00	*
	\$0.00	*
	\$0.00	*
\$340.00	\$340.00	*
\$5.00	\$50.00	*
ψυ.σο	\$0.00	*
\$340.00	\$3,400.00	*
\$9.00	\$21,492.00	*
φ9.00	\$0.00	*
\$340.00	\$340.00	*
ტ 040.00	Ф 940.00	

\$16.00	\$160.00	*
	\$0.00	*
	\$0.00	*
\$750.00	\$750.00	*
\$5.00	\$25.00	*
	\$0.00	*
\$750.00	\$8,250.00	*
\$10.00	\$39,890.00	*
	\$0.00	*
\$750.00	\$750.00	*
\$20.00	\$100.00	*
	\$0.00	*
	\$0.00	*
\$150.00	\$150.00	*
\$1.50	\$15.00	*
+	\$0.00	*
\$200.00	\$4,000.00	*
\$2.00	\$9,470.00	*
Ψ=.00	\$0.00	*
\$200.00	\$200.00	*
\$6.00	\$60.00	*
ψ0.00	\$0.00	*
	\$0.00	*
	\$0.00	*
\$40.00	\$34,360.00	*
\$50.00	\$250.00	*
\$50.00	\$250.00	*
\$20.00	\$100.00	*
\$20.00	\$100.00	*
φ20.00	\$0.00	*
\$40.00		*
\$40.00	\$200.00 \$225.00	*
\$45.00		*
\$40.00	\$34,360.00	*
\$20.00	\$100.00	*
\$20.00	\$100.00	*
	\$0.00	*
ф0.00	\$0.00	*
\$8.00	\$40.00	*
\$20.00	\$1,480.00	*
\$30.00	\$150.00	
\$60.00	\$300.00	*
*****	\$0.00	*
\$15.00	\$75.00	*
\$35.00	\$2,590.00	*
\$65.00	\$325.00	*
\$120.00	\$600.00	*
	\$0.00	*
\$17.00	\$85.00	*

\$42.00	\$210.00	*
\$65.00	\$325.00	*
\$120.00	\$600.00	*
	\$0.00	*
	\$0.00	*
\$16.00	\$80.00	*
\$32.00	\$160.00	*
\$60.00	\$300.00	*
	\$0.00	*
\$16.00	\$80.00	*
\$27.00	\$84,375.00	*
\$60.00	\$300.00	*
	\$0.00	*
\$8.00	\$40.00	*
\$16.00	\$80.00	*
\$32.00	\$117,664.00	*
,	\$0.00	*
\$10.00	\$50.00	*
\$20.00	\$66,520.00	*
\$40.00	\$1,320.00	*
,	\$0.00	*
\$15.00	\$11,625.00	*
\$20.00	\$1,800.00	*
\$125.00	\$12,125.00	*
Ψ120:00	\$0.00	*
	\$0.00	*
\$5.00	\$110.00	*
\$20.00	\$20.00	*
Ψ 20:00	\$0.00	*
	\$0.00	*
	\$0.00	*
	\$0.00	*
\$11.00	\$9,460.00	*
\$4.00	\$12,500.00	*
\$11.00	\$0.00	*
φ11.00	\$0.00	*
\$14.00	\$109,508.00	*
\$85.00	\$13,600.00	*
φου.υυ	\$0.00	*
	\$0.00	*
	\$662,339.00	*
2.00%	\$13,246.78	*
2.00%	\$649,092.22	*
	ΦU43,U34.ZZ	ļ